Problem 3. Ordering: GDP, CPI, FFR. One-standard deviation shocks.
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Response to Cholesky One S.D. Innovations + 2 S.E.
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Ordering: GDP, CPI, FFR
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Variance Decomposition
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Ordering: FFR, GDP, CPI

Response to Cholesky One S.D. Innovations + 2 S.E.
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Ordering: FFR, GDP, CPI
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Variance Decomposition

Percent FEDFUNDS variance due to LOG(GDPC96)
100

80

60]

40

204

Percent LOG(GDPC96) variance due to LOG(GDPC96)
100

Boff\

60

40

20

Percent LOG(CPIAUCSL) variance due to LOG(GDPC96)
100

80

60

404

20

Percent FEDFUNDS variance due to LOG(CPIAUCSL)
100

80

60

40

204

Percent LOG(GDPC96) variance due to LOG(CPIAUCSL)
100

80

60

40

20

Percent LOG(CPIAUCSL) variance due to LOG(CPIAUCSL)
100

80

60

404

20




Problem 4. Ordering: GDP, CPI, exchange rate (EXR), FFR

Response to Cholesky One S.D. Innovations + 2 S.E.
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Ordering: GDP, CPI, exchangerate (EXR), FFR
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PercentLOG(GDPC96) variance due to LOG(GDPC96) PercentLOG(GDPC96) variance due to LOG(CPIAUCSL) PercentLOG(GDPC96) variance due to LOG(EXR) PercentLOG(GDPC96) variance due to FEDFUNDS
100 100 100 100
804 80 80 80
60 60 60 60
404 404 404 404
204 204 204 204
OI\I\I\I\I\II\I\I\ OI\I\I\I\I\I\I\I\I OI\I\I\I\I\I\I\I\I\ OI\I\I\I\I\I\I\II\
2 4 6 8 10 12 14 16 18 20 2 4 6 8 10 12 14 16 18 20 2 4 6 8 10 12 14 16 18 20 2 4 6 8 10 12 14 16 18 20
PercentLOG(CPIAUCSL) variance due to LOG(GDPC96) PercentLOG(CPIAUCSL) variance due to LOG(CPIAUCSL) PercentLOG(CPIAUCSL) variance due to LOG(EXR) PercentLOG(CPIAUCSL) variance due to FEDFUNDS
100 100 100 100
804 804 804 80
60| 60 60 60
40 40 40 40
204 204 204 204
2 4 6 8 10 12 14 16 18 20 2 4 6 8 10 12 14 16 18 20 2 4 6 8 10 12 14 16 18 20 2 4 6 8 110 12 14 16 18 20
PercentLOG(EXR) variance due to LOG(GDPC96) PercentLOG(EXR) variance due to LOG(CPIAUCSL) PercentLOG(EXR) variance due to LOG(EXR) PercentLOG(EXR) variance due to FEDFUNDS
100 100 100 100
80 80 807—\‘—\\‘\\"-\\\‘--\\\\\\§\N\\\§N\§_ 80
604 604 60 60
40 40 40 40
20 20 204 20
OI\I\I\I\I\I\I\I\I\ OI\I\I\I\I\I\I\I\I\ OI\I\I\I\I\I\I\I\I\ OI\I\I\I\I\I\I\I\I\
2 4 6 8 10 12 14 16 18 20 2 4 6 8 10 12 14 16 18 20 2 4 6 8 10 12 14 16 18 20 2 4 6 8 110 12 14 16 18 20
Percent FEDFUNDS variance due to LOG(GDPC96) Percent FEDFUNDS variance due to LOG(CPIAUCSL) PercentFEDFUNDS variance due to LOG(EXR) PercentFEDFUNDS variance due to FEDFUNDS
80 80 80 80
704 704 704 704
60 60 60 60
504 504 50 50
404 404 404 404
30 30 304 30
20 20 204 20
10 10—// 107/, 10
OI\I\I\I\I\I\I\I\I\ OI\I\I\I\II\II\I OI\I\I\I\I\I\I\I\I\ OI\I\I\I\I\II\II\




Problem 5. HP filtered data. Ordering: GDP, CPI, FFR

Response to Cholesky One S.D. Innovations + 2 S.E.
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